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1. negative reinforcement (5% )

2. cost leadership (5% )

3. huge/big data analytics (5% )
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1. Absolute advantage
2. Consumer surplus
3. Natural monopoly
4. Quantitative Easing Monetary Policy
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1. Suppose that the CPI today is 150 and that it was 75 six years ago. Then in today’s prices
something that cost $1 six years ago now costs $1.50.

2. If atax isimposed on a market with elastic demand and inelastic supply, buyers will bear
most of the burden of the tax.

3. Internalizing a negative externality will cause the market supply curve to shift to the | eft.

4. Deadweight loss from taxes in a market represents the shift in benefit from producers to
CONSUMers.

5. When a profit-maximizing firm in a competitive market has zero economic profit,
accounting profit is positive.
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(a) RFID (b) NFC (c) iBeacon
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(a) BRAF A& (embedded system) (5% )

(b) TCP/IP (5% )

(c) IPv6 (5%)

(d) Excel = " FH¥Mr R, B " &EBIE (59%)

DU BiE (GRS ARG - 0K x By |RAVER/Z/V ? (10%)

X=5
y=60
dowhilex <y
y=y-2x
X=x+3
loop



